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‘aೇB ಕ), qೇL ಕ), �L ಕ)’
ಅq�ೇ ಕ)aಯ Qnನಗಳ)=

‘qೇL ಕ)’|<Y ನನ� Pಲಭ
ಅG�bತೇಅಥSಅYನನ��ೇ!ಪ/[ಮ
gೇ/ತೇ ^BಯY; ‘qೇL ಕ)’|ವಂಥ
ಪ{�{yಗ. ನನ� ಇ,tSಗತಡ09�ಂJ
Gಜ. 2]{ಕ! ಅ?�ಯನ9 ‘Lಎಂb 1’uೇ
ವ,w9)= ‘ವP( 2]{ಣ’, ‘Lಎಂb 2’uೇ
ವ,w9)= beರ 2]{ಣಗಳ ರಚu ನನ�
Kಂಬ ಇ,t: Pಲಭ: ಅG�bK. ಅ9a�
&ರಣ, 2^{ಸlೇ&9 ವP(ಗ. ಎY/ನ)=
ಇ�^(9�<.ಅ<ಗಳp�qೇLಯfವ-(0
ರ2P<9ರ)=N2mನ%{ಮ�ೇclೇ�ರ)ಲ=.
ಅದೇ /ೇ^, qೇL ರ2Pವ ಇq�ಂY
Q,ಯ Gಸಗw 2]{ಣ. Q2]{�ಂ9�
2^{ಸlೇ&9 ಎ!, U<ಗಳq�ಳ�ಂಡ
dಂ� aೈಯ)=yೇ ಇ�^(9�� ಆ Q,ಯ
�a ನನ� aೈ hLಯ)ಲ=~ೇ ನನ0c�
ಅಥwS0ಲ=. Gಸಗw 2]{ಣ9 zಂjನ
�ಗS9 v9ೃ%�(Land Scape)ಗಳ)=
op ಕLY ಕ1t i�Y� ಅ,tಕ�tೇ. ಇ)=

ಕ6tಡ9 SP( Qo�ಸಗಳp� ]ಕ�ಮ+t�
ರ2P^(ದ�. ಅ<ಗಳ)= 0ಡ–ಮರ ಪ{ಕೃ^
ಬಂ9� ಆ|(, rಸ� W)=9ಂC ಹb�
ಬಣ� i� aೈg8^(ದ�. ಆ�ೇ! qೇL9�
ಅY lH� &/�ಂಡಂC &E^(K(!
ಒDಂಗಣ9)= qೇL ರ2Pವ 2]{ಣ

zಂjನ ]ರಗ^ಗಳ)=, 3uೇ ವ,w9
‘�{�ಂ� ಅಂs Aೇಂ+ಂ�’ನ)= �ವ2]{
ರಚu �ಡlೇ�K(. ಇY ನನ� N>m
ಆಸ�(kಯಕ�GbK. ಎY� HB]
ವ��(ಯ zಖ9)=ನ �ವ, lಳH, uರ.
ಅವನ/ಳ ಅವಯವಗಳp� ಪ{�ಣಬ9�S0
ಅ)= ರ2ಸlೇ�K(. ಎY/ನ ವ��(ಯ �ಪ
ಯfವ-(0 ಬರlೇaಂY ಕ_tG_t
ಇರ)ಲ=. ಆ9�,op uರ.–lಳ�qಂj�
2^{P](!ೇ ಎY/ನ ವ��(ಯ ]�{ಪವp�
ರ2P<9ರ)= Gರ]o ^(ದ�. ಆ jನಗಳ)=
]ರಗ^ಯ)= �ವ2]{ gLP^(k�ಗ
ಎಲ= ಸಹxFಗ. HJಹಲjಂ9 ನನ�
�ವ2]{ವp� qೇ8^(9��. qೇL
ಬ�|ವ Q,ಯಗ. ನನ� Kಂ}
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